NT-200
=Mz (RS R)

2-jaw through-hole power chuck
(adapter excluded)

- REBRASRESEHME - IR EERERICNAEE
B MRS EEEE N -

B : mm
R 15
NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017 M1036 HJ05 HCO05 06-0135
NT-206 @45 12 515 1495 3875 18.9 6000 12.8 0.054 M1246 HJ06 HCO06 015-3169
NT-208 @52 16 7.4 2366 5975 18.4 5000 22 0.163 M1552 HJ08 HC08 ©20-3210
NT-210 75 19 8.8 2927 7546 18.4 4200 34 0.306 M1875 HJ10 HC10 ©25-3254
NT-212 @91 23 10.6 3875 9993 18.4 3300 55 0.717 M2091 HJ12 HC12 @30-0304
NT-215 @117.5 23 10.6 4823 12236 15.3 2500 106 217 M2511S  HJ15 HC15 ©50-3381
NT-218 ©117.5 23 10.6 4823 12236 15.3 2000 122 3.31 M2511S  HJ15 HC15 ©50-3450

R~

NT-205 135 60 110 14 8255 15 4-M10x60 33 265 19.75 7.75 1 -9 2 10 20 25 M40x1.5 445 31 62
NT-206 169 81 140 20 104.78 16 6-M10x80 45 32 2275 925 11 =l 2 12 19 31 M55x2 60 37 73
NT-208 210 91 170 25 133.35 20 6-M12x90 52 38.7 29.75 1175 145 -15 2 14 205 35 M60x2 66 38 95
NT-210 254 100 220 30 171.45 22 6-M16x100 75 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110
NT-212 304 110 220 30 17145 23 6-M16x110 91 61.3 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130
NT-215 381 133 300 43 235 30 6-M20x135 117.5 82 4525 1525 7 16 5 22 43 62 M130x2 139 66 165
NT-218 450 133 300 43 235 30 6-M20x135 117.5 82 79.75 1525 7 -16 5 22 43 62 M130x2 139 66 165

o o o a o o A
al
=
i



